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Lior Silberman’s Math 101 48

22. SEQUENCES (3/3/2017)

2)
3) Convert between formula and - - - notation
4) Distinguish convergence from divergence

5) Evaluate limits; arithmetic of limits
6) Squeeze theorem

Last time: Separable DE. (1) Separate variables
(2) Integrate both sides (3) solve for y if possible
(4) Determine constant ‘

Example (Fmal 2014) Find the solution to the
equation z W g = g2 satlsfymg y(0) = —1.
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Math 101 - WORKSHEET 22
SEQUENCES

1. SKILL 1: EXPRESSIONS FOR SEQUENCES

(1) For each of the following sequences, write a formula
for the general term

() {1,2.3,4,5,6,- ) = Oy=n

F?n,}b‘)
(b){lai,éaﬁ)%»%a' )= %bz}hﬂ b
() {3,7,11,15,19,- -} Qo= 4n-1 bd W senonll
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2. SKILL 2: LIMITS OF SEQUENCES

(2) Determine if the sequences is convergent of diver-
gent. If convergent, evaluate the limit.
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(3) Further problems
(a) Does limy, 000 €Xist?

N (v (n 1 !
s oo e 0 2o me
n Wb (Yos in Lrlerled soq )

asy

(¢) (Math 103 final, 2014) Consider the sequence {a, }, -, =
10,0,0,4.0,0,0,0, %, } Decide whether
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